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2A: SAUSSH
o = A

I duts A0 ESHEALS
Col: & AEY ZAANY (ctel:&2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 2,058,200 2,100,000 A 41,800
O e 5& ABABYA AL
2,058,200,000& 14 2,058,200
s 1,440,740
e 617,460
02 Zeltl 40,000 0 40,000
Odg s& MEHSHA MY
40,000,000& =14 40,000
as 28,000
e 12,000
03 AIE S THHI 1,800 0 1,800
O olgd s& dEEH2dA MY
1,800, 000& 14! 1,800
ras 1,260
e 540
HE2HZH (AU S SHL) 72,423 67,216 5,207
Jl= &l 66,663 67,216 A 553
Jl2Zdl (HA3SH ) 21,600 19,600 2,000
201 £B-2dH| 18,000 16,000 2,000
01 At 22/l 18,000 16,000 2,000
O FNM2IHI(ZY) 18,000, 000& 18,000
203 R =&l 3,600 3,600 0
04 FN2ELRZ=TH 3,600 3,600 0
O SN2YYLETH (FR20Y)
300,000& »12& 3,600
Jl2ZUl (XHXI&AE) 11,736 12,336 A 600
201 ¢er24] 6,336 6,336 0
01 At 22l 6,336 6,336 0
O XXSHLE 22 S| 6,336,000 6,336
202 044l 5,400 6,000 A 600
01 SLHOYI 5,400 6,000 A 600
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01 At 22l 3,456 3,456 0
O MRBME LS SHl 3,456,000 3,456
202 oddl 6,480 7,200 AT20
01 S LHOYI 6,480 7,200 AT20
O JI& 2l 6,480,000 6,480
JlzZdtl(otsa~d) 12,288 12,288 0
201 et 4,608 4,608 0
01 At 22l 4,608 4,608 0
O DI=S24E gRF2 Sl 4,608,000& 4,608
202 o4dl 7,680 7,680 0
01 = LH 4 Hi 7,680 7,680 0
O Jle 2UWdAb 7,680,000& 7,680
el 2 5,760 0 5,760
E¥YR 24 5,760 0 5,760
204 AR A H| 5,760 0 5,760
03 EZYFFHI 5,760 0 5,760
O ZANHYTLY SHYLLBBSY)
80,0003 x6H 128 5,760




